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QUESTION 1

Which three options need to be considered when implementing multiple vCenter Server in App Volumes 2.x? (Choose
three.) 

A. Datastore names must be unique. 

B. Each vCenter must use the same credentials. 

C. Host names must be unique. 

D. Portgroups must be unique. 

E. Each vCenter must support Cross vCenter VMotion. 

Correct Answer: ABE 

 

QUESTION 2

DRAG DROP 

Match the customer issue with a VMware Horizon View solution. 

Select and Place: 

Correct Answer: 
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QUESTION 3

A small government organization wants to implement stateless desktops using VMware products. The IT team is unable
to add or alter any GPO in the organization\\'s Active Directory. It wants to minimize the storage space required for the
user VMs and preserve user\\'s profiles and other personalization settings. 

Which accomplishes these goals? 

A. Horizon Instant Clone desktop pools with VMware User Environment Manager 

B. Horizon RDS desktop pools with App Volumes Writable Volumes 

C. Horizon Full VM desktop pools with App Volumes Writable Volumes 

D. Horizon Linked Clones desktop pools with persistent disks 

Correct Answer: D 

 

QUESTION 4

A customer is deploying a new Horizon View Pool which will support workstations deployed using older third-party zero
clients. The older zero clients will be used to access a 3D modeling application. Which protocol should the pool use? 

A. RDP 

B. RGS 

C. PCoIP 

D. Blast Extreme 

Correct Answer: D 
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QUESTION 5

In a local design, a company selected one database instance to be shared by Horizon View Composer database,
vCenter external database, and Horizon AppVolumes database. The design must provide High Availability for all
databases. Which two database server options should be selected during physical design creation? (Choose two.) 

A. Oracle 10g 

B. Microsoft SQL Server 2014 

C. Oracle 11g 

D. Microsoft SQL Server 2012 

Correct Answer: BC 
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